72.

73.

74.

7S.

76.

77.

78.

79.

80.

Admission Tech

15.00 ST CO, T TSB FIEF AAIY ITR?

A. 6.6x107% B. 6.84x10%f

C. 6.6x10%f D. 2.023x10%f%
@R @A I e qles wfErama +fmw
A FRA?

A. & TS B. (&R 718¢

C. (ouf&a & D. 1 S I
TR Wit (}F UV 3 (iR I @17 ween?
A. Breeifrar B. [iciEaE

C. AiFFar D. «IifFar

H,(OH)C-C = C-CH,(OH) 92 IUPAC [%?
A. fRE5-2-w13F-1, 4-©12 =

B. fA%5-2-31-1, 4-©1% &=

C. RT5-2-a7 ©13-1, 4 9=

D. 2-f®%H -1, 4-TI1% &=

&I (A5 QeI ¢ SwIx I@ [1?

A. @fEE B. s @=fe=

C. N3N D. fafafes

R Q6 ST Aqwt 77 1?2

A. CH;COCl B. CH;CH(OH)CH;
C. CH;COCH; D. CH;CH,OH
CH,CH,Cl + KOH (alc) —2—5 A (2t Beeimr);
A-Q3 AT

A. CH3CH20H B. H2C=CH2

C. (CH;CH,),0 D. CH;-CH;,

2MnO; + 16H* + ne = 2Mn?** + 8H,0 RfeFa=
(i) Mn 92 Si37 IZ +7 WF +2 TS ARSS 7@
(ii) Mn"*5% 3= szt F@ (iii) n @2 7= 10;

fawea 3l Afd=w?

A.1811 B.18 111
C.u18111 D.1,11 8 111
A7 SfPe Afazme IR T AG?

A. AT B. sifére ¥ 2=
C. CHCI;fufers fifq D. S35

Answer Keys: 1.B 2.C3.C4.A 5B 6.C 7.A 8D
9D 10B 11.C 12.A 13.D 14.C 15.B 16.B 17.B
18.B 19.B 20.B 21.B 22.D 23.B 24.C 25.B 26.B
27.D 28.A 29.A 30.C 31.A 32.B33.B34B 35B
36.D37.A38.B39.B40.A 41.B42.A43. A4 .A
45.A 46.A 47.A 48.D 49.C 50.B 51.A 52.A 53.B
54.C 55.C 56.C 57.B 58.B 59.C 60.C 61.B 62.A
63.C 64.A 65.A 66.C 67.A 68.D 69.D 70.D 71.C
72.D 73.B74.B 75.A 76.C 77.A 78.B 79.D 80.D

01.

02.

03.

0s.

06.

07.

08.

09.

10.

11.

12.

13.

_during art period. (Which word

AL ECRERE IR GE]

3T TH FIOF FANIT SfS AHl: 109%-20d4

‘H’ 345 Set-1

JAFTOT0 W AT GFE®
‘Tafox’ FoTs RIMT-
A. 935 F9 T B. A3 (=@ wast
C. fA5fI% +a17 =] D. &R
“MNx" g fF?
A. TR T B.%%el  C.w=a3d  D. e
TIRF TN WS HITIEA (6?2

A. ¥500-35qu s B. s38-3b-q0 e

C. Sr3o-3bdd s D. 5b83-5>58> 3
QIS T IR AT W -

A.sff3m B.zoory C.w*mN D. G IT@ A
@B “ 7 =" ARIA?

A Tfe  B.f"W C.e@€ D. ¥roe
Unfortunately they have't been paying on

time recently
A. Verb B. Noun C. Adverb D. Adjective
However, there are number of places and
events that must be seen and enjoyed if you
are in Dhaka

A. Preposition B. Conjunction

C. Interjection ~ D. Adjective

You can keep my iPod if you like, I .......
anymore

A. am not using it B. Doesn't use it

C. Didn't D. Don't use it

The price by air from Dhaka to Kolkata is —
—— than the price by train.

A. higher B. A lot higher

C. A more higher D. None

Teacher asked students to use color pencils
is a
compound noun?)

A. Teacher B. Color pencil

C. Period D. students

Which of the following spelling is correct?
A. Surveillance B. Survaillance

C. Survellance D. Survailance

We have recently entered an agreement
with the islan co-operative society.

A. no preposition B. in

C. 1nto D. upon

Which of the following sentence is correct:
A. It is you who is to pay.

B. It is you who are to leave.

C. It 1s you who is late

D. It 1s you who has won the prize.
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14.

[—y
[Jl

16.

17.

18.

19.

20.

21.

22.

23.

24.

25,

Admission Tech

The synonym of '"Stalk" is
A. dive B. chase C. omace D. prowl

The feminine gender of 'murderer’ is

A. murderer B. murderess

C. murdress D. murderee
"They only skim it".

A. With B. Through

C. Beyond D. Onto

"He put the vase on the table. It fell on
the floor".

A. Quickly B. Carefully

C. Carelessly D. Beautifully

g drawing is different"

A. Every B.Many C.Few D. Much
"The writer would coffee for next two

weeks."
A. Cutinto . B. Cut out
C. Cut off D. Cut short

Translate in English “ct ¢t 32 3re 33k
A. The wind is blowing

B. The wind is making

C. It 1s windy

D. The wind is howling

f&aft wrz ey W™ 3uF, 2uF 8 1uF @R

a2 ¢ R N A AfGw s
A ANTARA TR TS FA A PYRIG IO A?
A. 2/3 B.3 C.5/11 D. 11/5

fAea (TR ITMABJER FwRAS QTR FNFAA?

I In
A. v=—mo B V=——
nAe Ae

In
D. v=—

Ae
=R T R T PR TR FE e
HRINSSI AT (BINT TAWRGENR I [T
*#fAAEN TOTS ARt T | G T ITA?
A. COIRFETG B. (5153 W=
C. CBIES FEANeTS! ‘D. ORFAG
fFram 9= Aq=T s witsa eyt feor 200 932
st femrers 10 I @t | ot ¢ wefrma
TGIS Y 2Kkm T WA QA FS7? |

C. v=InAe

A. 1.6x10° n/s B. 1.6x10° m/s
C. 1.6x10" m/s D. 1.6x10° m/s
gF ST F© fFafior?

A. 94.6x10" B. 9.46x10"
C. 4.6x10" D. 49.6x10"

26.

217.

28.

29.

30.

31.

32.

33.

34.

3S.

36.

37.

38.

G0 TS A CFIIH GG 25¢m | TR TS| IS?
A.+®4D B.-4D C.+4D D.-0.4D
a5 SATHR 7o =12 0 o= *hdFy A/2 | R<waz
TG Wit ATy FS?

A. 2 B. ¢ C.2m D. 3x
Z&=i+2j—212 qR ﬁ=23+3‘+f( A S AR
TR FS?

A.9 B. 19 C.v19 D.6
ZoefGa IO Ff9F @ T5 [ FOR &
A.1180 rad s B. w270 rad s’

C. /21600 rad s D. w190 rad s™

25 11fe7 At I @A 1S zeen
A. v< (tanerg)% B. v < (tanOrg)

C. v > (tanOrg) D.v> (tanOrg)%
600 kg SR @I “MUAF FHT A 0.1ms”

Tt TR B BITS (H T =S T T
A.294W B.SSOW C.588W D.600W

TR e ——
A. @35 cFaR A B. @35 ¢s3q a4
C. 93 @33 go/fermam® D, @R =W

AR AAERT IRRA TR AIGH G431 IFA

A. SAfAE IF B. A& I35

C. SIFeasae IFRA D. 4193 IF9

wHn SO — AR T SIS (ATSA
1dB «f¥@sq T |

A.20% B. 26% C.25% D. 27%
E=mc’ Rote wicafrss e weaie w2513
IS AN T SFH BAGIoT I

A. Y508 B. d»oe C. oy D. o9
B G {7 TR TS 14ms T HICS RN 179 |
TFR AW 4B MG 91 ms” FTNRCRA G AEAEA
5 o I | G TEIBTE IR P cweea?

A.l1ls B.12s C.13s D.14s
20°C st +ifaz Sefaesr s 0.05m =¥t
a#fB wTehiE TR G wre @ FHfET SR
gratem SR Ww 7.28X10°N, a7 «@bm @@ =7
[SIta7 @& F1e] - |
A. 7.2x10*Nm™ B. 7.2x10*Nm

C. 7.2x10°Nm™ D. 7.2x10"'Nm™ °
a5 T 4kg S R 9B Fa 377 Toam
IR | G TR BT 6s @ 30m/s X A8 T | I
TR 7

A. 10N C.30N D. 40N

B. 20N
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39.

40.

41.

42.

43.

44.

45.

46.

47.

48.
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=N a6 @R 997 Gy [ e ofer 21z

TRl @@ F} 120Q@ (it T =
AIRTA!

FTER YINZA TS TF | TR @ TS |

A. 12Q B. 120€2 C. 20Q2 D. 10€2

q=f0 B2 M TeenRwma Farss 1A faqge
IR | 97 ANeCRT e Ny 1.25V | sy
QY TS? |

A. 8Q B.0.125Q2 C.1.25Q2 D.0.8Q2
93 oimm o cvaEa 2.010  mia T
T W 0.01A RpR g3 o oz ferem=
CAITHD TS?

A.2x10°Am B. 2x10°Am"
C.2x10°Am’ D. 2x10°A'm"
X-SrFA T wafgs P =3 =¥z (0, 2) s (6, 4)
=1 1S FwRaet 3= P i<z g fafy =
A.(6,0) B.(4,0) C.(6.2) D. (2.4)
G FFARAT (X4, ¥,) = e gs=oz ==

@, S wF 7307 TS <fer wew @ R
Fafedfes 7 | eor T Gz =2

A =+d=1 L
a b X ¥

C. x+ y=l D. x-.- y:z
i Y X, ¥

X — 3y — 2 = ( F7ANR B2 p <F® A 9o
ot (2, 3) 8 (6, —5) =g 26 vz Fmzadt
fasgfoz g fRda =2

A.(4,14) B.(6,14) C.(14,4) D.(3.6)
X + 2y + 3 = 0 R T (T 7R o 39 (-1,
-1) 92 (3, 2) R 12 ey wfww =z | =iz
I Ao =2

A. x> —y*3x+3y=0 B.x’+y’ - 8x+7y-3 =0
C. 3x°+2y*+2x+y=0 D.2x*>+ 3y —x—-y=0
(4, -5) FHRFB 9 Jo 7 R~ ey 7w =%
TR0 (AF ot & Afaws Wt w33 ot f/Afy =2
A.x:8, y:10 B.x:10,y:10
C.x:15,y:12 D.x:15,y:8

(1, -3) =AM B W 2x —y — 4 = 0 BN=
=4 302 | Fefoa AT facfa =0

A.3x*+3y* — 10x + 30y + 49 =0

B.x* + 5y”+20x— 10y + 29 =0
C.x*+y*—10x+ 10y +20=0

D. 5x*+5y° —10x+30y+49 =0

3x’+4y’=12 ToRre Bt ¢ BoirrH AR
A. 1/3, (+4, 0) B. 1/4, (+3, 0)

C. 1/2, (1, 0) D. 1, (£2, 0)

49.

50.

S1.

S2.

S3.

54.

SS.

56.

57.

S8.

q-9% T TS A 2i+j-k, 3i-2jH4k 9R i-3j+qk 92
f&afo (o837 9] TS AU |

A.7 B. 6 C.5 D. 8
xX’logx + 7€ Cosx 7 3% fadfy =71

A. 7(log.e+2logx)te (Cosx—Sinx)

B. 7x(log,e+2log.x)+(Cosx—Sinx)

C. x(log.et2logx)+7¢" (Cosx+Sinx)

D. x(log.e+2logx)+7¢" (Cosx — Sinx)

a5 faeren AT 60cm @3 WS 150 cm’
T - T8 foafoz Afdms 397

A. 15cm, 15cm, 30cm

B. 15cm, 20cm, 25,cm

C. 20cm, 20cm, 20cm

D. 15cm, 10cm, 35cm

k- R IR TS Bk+)x" + k(11 +k)x+9=0
FMTaifba o 936 IWIT 8 WHTIF TF |

A. k<85 =3t k>1 B. k>85 541t k>1
C. k>85 393t k<1 D. k<85 ==t k<1

{—1 ) —1}
P=[22] «R Q= T PQ-a7 W

3 03
IS
A.[4 1 5] B.4[1 -1 -2]
C.4[1 1 2] D.42 1 2]

a, b, ¢, d, e, f TFAGTNT (T AT wwx et 43
Rt it Afy 32, A S Rays s
g6 773f TR =TT |

A. 46 B. 96 C. 23 D. 69
ABAHONI *=f67 afere iz o 3% 2
fam Afd= et wedn fAefa =21

A. 135 B. 125 C. 90 D. 100

(o - 2x) -z REfoTe X" Tt T
A. 3360 B. 3630 C. 3330 D. 6330
22 + 4% +6'+........+(2n)? @27 cavtEa facfa ==

A.—;—n(n+1)(2n—1) B.%n(n—l)(2n+1)

C.%n(n+1)(2n+l) D. —;—n(n+1)(2n+1)

3T QAR 60% Q@ TR JIZE@AI JEAM
TR 4 T QEIA GFT WAE MIT  BAER
(Randomly) f&fers =R =3t Tt I+t ( &=
QR IVREE JIIYRET Feiawt  (Probability)
TS

A.0.0256 B.0.35395C.0.35392D. 0.45392
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59.

60.

61.

62.

63.

6S.

66.

67.

qaEs [rper e @ Tk 290 72 ffes bR
12% === | iz Tk 30,000 Rew =051 R W17 397

A. Tk 2890/= B. Tk 3870/=
C. Tk 3790/= D. Tk 3890/=

T x 932 y TSR Y1IAAIZF prime number
GR X, y < 70 TF, SIFE X G Yy 9% G 5
T LIS AfdF 777

A2 B. 4 C.5 D. 6

¢ A={x|%<x<1}g} €32 B/A={x| All

negative numbers} Szt B T ZE1-
A. All negative numbers
B. All positive numbers

C. Ostl%

dﬁI,Az{xl |x-1|<%0}, B={x| All negative

D. O<x<1/%

numbers} |

TR C={x| 0<x< 1.1} s1zt® (4U B)UC &7 Zeen
A.x<l.1 B.x<l1.1

C.C D. - <x<I1.1

%+1SO, wwvstmxmmm:

A.0<x<-1 B.—o<x<-2
C.x<-'1 D.x<-1

¥% 10, 14 and n 97 ¢ 8 WAt § «F CBTH AP
G 12 =Wt 12 G (578 TN TF, SIXA n 9% AW
g TR FS?

A. —-12 B. -1 C.0 D. 12

o x =31 wrgm Asa @ TR 72

A. Only one root: x=1

B. Two different roots

C. three different roots

D. Solution not possible

T polynomial = x° - 3x+4x - 10 =¥ (x-1)
Mte oMt 33t T, SIZTH ST A3

A. -8 B.0 C.8 D.2
(X ‘%zf FreRGa ez x Ifefs om 77
A. 60 B.5 C.15 D.7

5 (a + 2x)° Fewba e x° ar =t 320 =
SIEA g I3 TR IS?
A 2 B.£2

C. 1 D. +1

69.

70.

71.

72.

73.

74.

75S.

76.

77.

78.

79.

a* (ﬁ —-2)=3* (\/3 + 2) WA TIANX NTER
G 7fEw?

A. 20 < a<36 B. a>25

C. ais negative D. 21<a<22

I AAYLET TATH qR MERT TART ITFN
(3, 0) 9= (0, 0) =W, 1A “RAFLSA WITHR
AR FS?

A.y=-3 B.x=0 C.x=3 D.x=-3

I AAgreR FARFA xX!-4x +4 =8y - 16 =¥,
B TATICHRA TAIT FS7?

A. (2,00 B.(2,4) C. (4,00 D.(0,2)
IR fager et (0,0), (3,0) 932 (3,-3) T=
fageta wae 37

A. 4 B.2.5 C.3 D. 4.5

S5kg 9R 4kg €&=A 9t I I [7re fear=
G2 SRR TS TN 180 o, sitwz afes 392
A. 41 kg weight B. 1 kg weight

C. 9 kg weight D. Not listed here
4c0s°0 — 4cosB+1 = 0 FANzT e T23T=T O
G FHIW Si7 719 T [Aea FRG?

A. n7t+E B. 2n7tiE
6 3
C. nm+ (—1)"% D. Zmi%

a0 T 9T ZfA1T 4 B frem Az w77 &=
fr @ 2m/sec2‘ AAGACT AT SF
et | RT3 m/sec FANRTT (AGIEE LT IAF
R IS “Mara?

A. 1 sec B.5sec C.2sec D. 4 sec
a0 TF 9.8m/sec @t 30 P Fw 9.8 I
P2 QR T (T fATEa A Tt | FOHA o4
B ghirs ~tgrR?
A. 4 sec B. 2 sec
e 32

A. Ration of standard deviation to mean

B. Percent Ratio of standard deviation to mean

C. Ratio of mean to standard deviation
D. Not listed here

C. 6 sec D. 1 sec

1,2, 3, .......... 22 At ey e I9?

A. 115 B. 22 C.10.5 D. 13
7 8 9] |

I A=(2 1 2| @R C = A + L;; o™
6 S5 2

C23=?

A.6 B.7 C.8 D. 3
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80. 37 (=87 A=3§—5]+«/51§ TY SIFCA X

TF QIR (SFAT TS (Tt TS

A. 60° B. 30° C. 90° D. 0’
Answer Keys: 1.C 2.C 3B 4.A 5.C 6.C 7.D 8.A
9A 10B 11.A 12.C 13.B 14.D 15.B 16.B 17.C
18.A 19.C 20.A 21.D 22.A 23.B 24.C 25.B 26.C
27.B 28.C 29.C 30.B 31.C 32.A 33.C 34.B 35.B
36.C 37.B 38.B 39.B 40.C 41.C 42.B43.D 44.C
45.B 46.A 47.D 48.C 49.C 50.D 51.B 52.C 53.B
54.B 55.A 56.A 57.C 58.B 59.D 60.C 61.C 62.D
63.B 64.C 65.A 66.A 67.A 68.B 69.C 70.D 71.B
72.D73.B74.B75.D 76.B 77.C 78.A 79.C 80.A

I EIECRERE R ICLIGE]]

YT I NS (F7NIF) ©fS 1 AFT: 05b-034

01.

02.
03.

04.

05.

06.

07.

08.

09.
10.

11.

12.

‘D’ f5

AW WTw wTIq
“F IR’ G YA 2
A. cTiefHa! B. sesfial vz
C. 5f¥fs v D.ZTAY @I
AT AN HAIRL SIFER I51 77?7
A. 3ol B, 97 3517 C. GIIFIR 94t D. 93FsH
“@ iR T T g T - @GR S (@G
A.w=fs B.e3fd« C.w&ms  D. ofew
3T 4F@ 2 8 1 N e W | IWR A=A TETS

BI3E T T (T, ? 1 R (R FT | g 92 IS 2
8 ot 3 foret Ie= oty | SR, ¥ o @R [ H?

Seet-1

A. 2, % 9g ot B. ¥, % @3 qa%

C.¥4, 793w D. (3162 77
Choose the correct spelling:

A. Trouser B. Trousers

C. Trouzer D. Trouzers

He is opponent; you must respect

and fear him at all times.

A. a redoubtable B. an insignificant

C. a craven D. a pugnacious
He attributed the loss me.

A. from B. by C.to D. of
Find the correct antonym: DESICCATE
A. Lengthen B. Hallow

C. Exonerate D. Saturate

3¢ (TN AR ¢ %?

A. 93.3¢ B. 93 C. o:.¢ D. ¢oo
Yo, 3R, M, Y, Yo YRAMA 7S FH1fs T 72?2
A. 9 B. v¢ C. 8o D. 8¢
“IR” =B ANLT =R @FEH?

A. I B.¥dt C.wofk  D. 3w
[SACUTAC DT ek L

A. Ffwsr B.weet Cov@es D, Rfafaf

24.

13.

14.

15.

16.

17.

18.

19.

20.

25.

26.

217.

ICBN (International Code of Botanical
Nomenclature) wFHR @ffrszr a4t
QTHS 307

A. Genus B. Taxon C. Species D. Kingdom
IR 3B (I1Sq ]F?

A. AGA B. UAG C. UAA D. UGA
DNA 235 mRNA ™ 3¥ IAee 6w
afeares & 3ce?

A. Replication B. Transcription

C. Translation D. Mutation

DNA 93 w93z Carbohydrate ==5?

A. Glucose B. Ribose

C. Deoxy-ribose D. Fructose

R R S @|RE SRAAE JIT FATS
Bk 2Tl

A. Dimitn Iwanowsky B. Pirie

C. Stanley D. Shafferman
ooz et @t ey Wit oA @wG?

A T, B. T, C. HIV D. PRSV-P
THTTE 3% A MRS TfeTd TR ARReEet
A ITE B.3w C.gSR @R D. @R T
=g Tewre (R IR C; Tfew Fon 71?2

A. Cyclic phosphorylation

B. Hatch-Slack cycle

C. Calvin cycle

D. Pentose phosphate cycle

e @iE N Wy [Rmam?

A. Golgi apparatus B. Mitochondria

C. Ribosome D. Lysosome

&R 432 (T ARSI NPAFs?

A. Liver cell B. Red blood cell
C. Neuron cell D. Kidney cell

=S FR-RfEef a2

A. Fructose B. Sucrose

C. Dextrose D. Cellubiose
= fofRas 9z cwta drarey w3172

A. fFefFs afekaT B. Fe@me WS 7oy
C. AT =12 D. Iq1Af57S SR WFe
5 Ao Tefors w3gE & 3a 77?2

A. IR B. SRTAG SR

C. T3 ggHam D. ¢

Reverse transcription f&amg & 0o =37

A. DNA @& DNA B. DNA =3 RNA
C. RNA ™tz DNA D. DNA ™ Protein
A6 TAH-AFE ICIT &) T 7S o)

A. Phycocyanin B. Xanthophyll

C. Chlorophyll D. Erythrocyanin
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